APPC

Quiz WB The SKATE Deal


Answer the following problems, documenting your solution using nouns, verbs, and –ly words. 

1. Why would the momentum before and after a collision NOT be the same?

2. What are the two types of collisions? When two objects stick together upon collision, what type is that? What are the implications of having either of these types?

3. What is momentum? What letter is commonly used to represent it? What are the units of momentum? Is it a scalar or a vector?

4. What is the significance of having the same mass for both objects in a collision?

5. What is Newton’s 3rd Law and what ICE experiment dealt with it most directly?

6. Give an example of the presence of torque in the ICE experiments.

7. How is it that the Unit Circle from Trig is appearing in our SKATE deal?

8. Why should most of the graphs for the data from the SKATE deal be piece-wise?

9. Why was the ice not frictionless in most experiments?

10. Why did the position vs. position graph appear in the 4th Quadrant? How could you have changed the experiment or the analysis to have it appear in another Quadrant? Would all Quadrants be possible?

11. If we take the APPC class(es) to the Jones Center next spring, what would you suggest we have the students do? How many experiments? Require the use of CBR, Video Camera? Make all the experiments require the ice? Explain.
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